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AUTOMOBILE ENGINEERING
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Max. Marks: 75

Note: 'fhis question paper contains rwo pal'1s A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B
consists of 5 Units. Answer any one full question from each unit. Each question carries
10 marks and may have a, b, c as sub questions.

La) How are automobiles classified?
b) Describe the different shapes of an automobile.
g). ,"...What is the."fur;ction of contacJ,pgints inside.thedistributor? ;...t t..-:
d)'i'':.What are thp"t'ffisic requirerndilGi'bf an ignitioiisfstem for an f,G;'eingine?
e) What is the function of a stabilizer?
0 Define bouncing, pitching and rolling?
g) What is the function of a proportioning control valve?
h) What are the basic characteristics of a brake fluid?
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f) , ,- -What is the, bagic function of a panister in evap..,qrative emission,qoptrol syster4sjl l [2]
j).' r 'Write three'.rdddons for using.rrionolith three:way'catalytic convefter. '...' , '[3]

PART. B
(50 Marks)

2.a)i.'.,".'.'Describe the"cOh,struction anfl,",vprking of a f,dplifpedpllmp usq.d,ip'a diesel enging,',,,

b) ' 'Explain thd"difference in ignition method of fiiel in case of pbtrbi and diesdl"birgines.

[6+a]
OR

3.a) Describe the construction and working principle of a carter carburetor.
b) What are the air- fuel requirements of a carburetor at different operating conditions?

Describe the construction and working of a rotating armature type magneto system.
Compare battery coil and magneto ignition system. [6+4]

OR
-5.a) "Why electrgllig.ignitron syslgnr..iS preferred over.conventional !gnition system? 

.

b), ,',.I*/hy is water,gooling preferred,than air cooling,systems? Explainl , . ,''15+4)

Explain rigid axle and independent suspension system. Discuss their applications.
Write about shackles. 16+41

OR
7 .a\ .,...Fxplain thq.tlvp.lypes of clulclr, operati n g mqcl14nis ms.
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b): :':'1y1ru, typeo..,of'. gears are .used. in sliding.-mesh transmission.
transmission? Justify.
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Euro-IV norms for
.,...,'-|,
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1 1.a) Explarn Indian standards for emissions fbr petrol and diesel vehicles'

b) Deicribe the correlation between the three toxic components based on air-iuel ratio'
l6+41
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